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170000 cm? = | |m?

@17 @ 17 ® 170 @ 0.17 ® 1700

10000 cm? = 1 m?
170000 cm? = 17 m?




(1) 24km? = | ha = | la =] |m?

(2)8ha=| |a=| lm2 =] |km?
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2400
HET 240000
HE D 24000000
HED 8600
HE T 860000
HE D 086

1km? = 100 ha = 10000 a = 1000000 m?
(1) 24 km? = 2400 ha = 240000 a = 24000000 m?
(2) 86 ha = 8600 a = 860000 m? = 0.86 km?
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9ha = 900a = 90000 m?
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2700 kg = 2700000 g
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@ 24000m? = 2.4ha @ 150a = 1.5ha
@0.3 km? = 3ha @ 24000a = 2.4km?

® 3.6ha = 36000 m?

® 0.3km? = 30ha




® 90000 cm? = 9m? @ 23m? = 230000 cm?
@)4.5m? = 450000 cm? @ 35000 cm? = 3.5m?

® 10m? = 100000 cm?

1m? = 10000 cm? ©] B2
® 45m2 - 4.5x 10000 = 45000( cm?)
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@® 0.02km? @ 0.2ha (3)2000a

@ 20000 m? ® 2ha
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@D 0.02km? = 2ha

® 2000a = 20 ha

@ 20000 m? = 200a = 2ha
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© 7320kg = 7.32t

© 875000 g = 875 kg = 0.875
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1km = 1000 m, 2km = 2000 m
500 x 2000 = 1000000( m?)
(72 42 e o))

1

1
= 1000000 x (1 - - 1--
x(1-g)x(1-2)

250000

= 1000000 x5 X = = 750000( m?) — 75 ha
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13. #HLoJyE= 3.2ha 9] =04 & 5.6t = AR, W= 4.5ha
4 —‘mﬂ/ﬂ & 7920 ke 2 AASFALSUTH 1a & AAEES o] o)
% kg H BHUE?

®© 72, 1kg @ 72, 0.1kg ® ¥4t 0.01kg

@ "4F, 1kg @‘?J'Fh 0.1kg

B ~
7Aooy 1a F AA4=F : 3.2ha = 320a,

5.6t = 5600kg = 5600 + 320 = 17.5( kg)

A 1a T RBAEEF @ 45ha = 450a,

7920 + 450 = 17.6( kg)
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17.6 —17.5 = 0.1(kg) & @5t
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7= @ x 60

U= 190 x 90 = 17100 m?

7} 1}4=2.37ha = 23700 m?2 |2 &
@ x 60 4 17100 = 23700 m?

@ x 60 = 6600

@ = 6600 + 60 = 110( m)
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30kg A2 AAE Ae 5 Y BAE
2500 — 1000 = 1500( kg) YU}
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1500 + 30 = 50(7) YU ek,




